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3,[ Which among the following is not a mission put forward through the recent Nava Keralam

Karma Padhathi (NKKP) of Government of Kerala ?
(A) Haritha Keralam

(B) Rebuilding Kerala
(€) Ardram (D) LIFE
 § I?Ifl'ash‘umne fund mobilisation structures of KIFFB is approved by :
{{)  Reserve Bank of India
(i) Securities Exchange Board of India
?ﬂﬁnhlﬂfﬂxe above is/are correct 7 )
(A) (i) only ) (B) (i) only
(C) Both (i) and (i) (D) Neither (i) nor (i)
3.

f;unsider the following statements regarding land use pattern in Kerala in 2017-18.
(i) Largest area is under forest coverage,

() Largest is Cultivated Area,

(iif) Largest area is put to non-agriculture uses,
Which of the above statement is/ are correct 7 '
(A) (i) only (B) ({ii) only (C) (i) only (D) Both (i) and (i)

j'. Consider the following statements,

(i) Compared to Primary and Secondary Sectors, Services sector share is dominating i
Eerala's GSDP, R e

(i) But in terms of employment/workforce, secondary sector is dominating,
Which of the above is/are correct ?
(A) (i) only

(B) (i) only
(C)  Both (i) and (i)

(D) Neither (i) nor (i)

5.  Consider the following schemes and its beneficiaries.
Schemes Beneficiaries
{{) Swapna Saphalyam NEKs
(i} Santhwana Women
(iif) Insight Projects PWDs
(iv) Aswasakiranam Endosulfan victims
Which is/are not correctly matched ?
() @and@) B) @and@ (O @and@) (D) Gand (v)
6.  K-SWIFT initiative of Government of Kerala is related to :
(A) Atiract investment and Ease of doing business
(B)  Attract Foreign Tourists
(C)  Improve Social Welfare
(D) Increase Foreign Trade
B 3
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7. Loka Kerala Sabha Ccomprises of :
(i) Legislators and Parliamentarians from Kerala.
{ii) Elected Expatriates of Kerala abroad. .
(i) Elected Expatriates of Kerala in other Indian states,
Which of the above is/are correct 7 .
(A) Only (ii) and (i) (B) Only (i) and (ij)
(C) Only (i) and (i) (D) All the above

. In its achievements in Sustainable Development Goals SDGs), Kera :
j NITI Aayog. Which among the following is/are the ma:':n re&.sjnn}; fmlﬂ&;fsa:&ni:ed first by
(i) Health '
(iij Education
(iif) Gender equality
. Select the correct answer from below :
(A) Only (i) and (iii) (B) Only (i) and (ii)
(C) Only (i) and (iii) (D) All the above

9. Pﬁur;h of the following statements is/are true in relation to science and technology ?
(1) Today’s science is tomorrow’s technology.

{il} The border between science and technology is well defined today,

(iii) S & T developments of social /economic relevance are potental innovations.
(A) (i) only (B) (ii) only

(C) () and (iii) only (D) (i), (ii) and (iii)

10. Which of the fnllnhring indicates the best system of public health in India 7
(i)  National Health Mission

[nj Union Ministry of Health and Family Welfare

(iiiy Primary Health Centors, Community Health Centers and Government Hospitals
(A) (i) only if) and (iii) onl |
(C) @ and (iii) only gg}l . @ af::;"{ﬁi;, d

11. The following refers to a recent development in technology. “It makes it possible to easily

alter DINA sequences and g : :
improve crops, but with associgieg o1 2nction: I can therefore correct genetic defects and

i - ted ethical problems.”
Which of the fol is th pro
(A) DNA Bar-co d:i.ng € recent deveIupment referred to above ?
(C) P53 (B) CRISFR :

(D) Terminator
12. . A famous book titled ‘10,
H
90% cells are now consig argues that human cells are just 10% of g
(A)  Cells with Junk DNE':EE! key to our heajth. These 90% cells are mainly ; dy. The rest
(B) Cells of Gut mj _

(C) Cells with CRlg uogen
(D}  Stem Cells PR modifiag DNa

¢
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13.

14.

16.

Nehru's vision of S & T resulted in dE‘fEiﬂPmmt of IITs and CSIR laboratories. EV'ETI‘- th::::-ﬂ
innovations from academic system in India may be very modest, CSIR. 1abﬂrat_urms ;
38 National Laboratories and 4600 Scientists and 80005 & T personal have impressive output.
Which of the fD].lﬂWi.nE are products from CSIR ?

{i) Saheli (female oral contraceptive)

{ii) Sree Chithra Heart Valve :

(iif) Indelible ink applied on forefingers to mark voters in elections

(iv) Coconut de-husking device

{A) (i) and (iii) only (B} (i) only

(C) (i) only (D) (i), (iii) and {iv)

'C].'lﬂ.l.'ldl'ﬂfﬂ.ﬂ]’lvz wWas a lTi.iJ.'tl;lIE l.‘_pf SuCcess E.'I'I.d SEtrbﬂEk. l:i""ur!.'lj.lfl.'l ﬂf ﬂ'l.'E' fﬂ‘ﬂﬂwmg Etﬂtemﬁ"nts
are applicable to Chandrayaan-2 mission ?

[y ~Itaimed at exploring south pole of the moon. .
(i) To further study the evidence of water molecule found by Chandrayaan-1.

(iii) To soft land Vikram lander on the lunar surface and to relay information to earth.
(iv) The location of crash landing of Vikram has later been identified.

(A) (i) only (B) (ii) only
(C) (i) (i) and (iif) only (D) (), (i), (i) and (iv)

Consider the following statements in the context of Artificial Intelligence.

(i)  Perceptron specifies all actions that need to be undertaken and specifies the order only

| when required.

(i) Inductive machine learning derives the conclusion and then improves it based on the
previous decisions.

(iiiy Training scenario and feedback does not affect the performance of learner system.,

(iv) Pattern matching allows computers to understand associations and relationships
between objects and events.

Which of the staternent(s) given above is/are correct ?
(4) Only (i) (B) Only (i) and (i)
(C) Only (ii) and (jii) (D) Only (iv)

With reference to the Information and Communication Technology (ICT), consider the

following statements. _ . . .

(i)  The data related to various kinds of information with more precision and accuracy has
been provided by 1CT. .

(i) Through ICT, it is possible to identify the critical areas for competitive advantages in
corporate sectors.

(iii) ICT products affect the process of environmental footprint of other. products and
activities across the economy. i -

(iv) The manufacturing system facilitated by ICT is energy intensive, standardized as well
as departmentalized. :

Which of the statement(s) given above is/are correct 7

(A) All the above (B) (1), (ii) and (iii) only
(C) (i), (i) and (iv) only (D) (i), (iii) and {iv) only

3 016/2020 - M
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17.

18.

19

20,

Consider the following statements in the context of session hijacking. . L

()  Itis compromising a user's session to exploit their data and perform malicious activities
or misusing their credentials.

(i)  The most common method of session hijacking is IP spoofing where the attacker acts as
one of the authenticated users. ?

(iii) ~ Session hifacking can be prevented by using packet sniffers and cross site scripting.

(i¥) To protect the network with session hijacking, the defender has to implement security
measures at Application as well as Network level,

Which of the statement(s) given above is/arc correct ?

(A) AL the above (B) (i), (ii) and (iii) only

(©) (i) (ii) and (iv) only (D) (i) and (ii) only

Which one of the following schemes, deals w
(A) TIDE 2.0 Scheme '

(B) MyGov

(C)  Open Government Data Platform India
(D) Jeevan Pramaan

ith the generation of Digital Life Certificates ?

(C) National Critical Information

Infrastructure P tectio
(D) Platform for Joint Cybererime o e

Investigation Team

© @ and (@) (D) (i) oy
The first dedicated Indian astro T :
°Ptical and ultraviolet spectra) pang. T "10n 3imed at studying celestia) sources in X.
%é"::: ChisAriodan s sp Smnﬂm} Iané:;:]}rm : n X-ray,
Astrosat i
3 (D) Cartosat

ST e P S R B
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23.

24.

25. °

26.

27.

28.

29,

)
(B

(<)
(D)

The upcoming smaller mumérpart of PSLV rocket is :

(A)
(B)

“Consistent availability of sufficient energy in various forms at affordable prices” is the

The second spaceport of ISRO to launch rockets is proposed at the following locabion :

I{ulasekampntr_i.nam, Tamil Madu

Kaithkhola, Odisha
Pozhiyoor, Kerala

Krishnapatnam, Andhra Pradesh

Mini Polar Satellite Launch Vehicle
Cube Satellite Launch Vehicle

(C) Small Satellite Launch Vehicle

(D}  Multiple Satellite Launch Vehicle

definition of ;

(A)
(©)

The online platform established by the Ministry of New and Renewable Energy for Installation
* of Solar Photovoltaic :

(A) SPIN (B) SOLARWHIN

In India the largest amount of installed grid interactive renewable power capacity is associated

Energy management
Energy security

with :

(A)

At the headquarters of whic

Solar power (8) Wind power

recently inaugurated 7

(A)
(E)

United Nations

(B) Energy policy
(D) Energy conservation

h international organisation was the Gandhi Solar Park (GSP)

world Health Organization
(C) International Atomic Energy Agency
(D) International Monetary Fund

(C) SPINE (D) INSP

(C) Tidal power (D) Biomass power

With reference to the cause of ozone layer depletion which of the fallowing statement is
incorrect 7

()
(B)
(C)

(D)

A number of naturally occurring

substances like Hydrogen Oxide (HOx). Methane

(CH,), Hydrogen Gas (Hy). Nitrogen Ouides (NOx) causes ozone layer depletion.
g4

Chlorine Monoxide TEI10)
may be released in the stratosp
Tiny particulate matier in the stratos

'
El

rotec laver depletion. .
?:;rtfwint. w;:i{:"ilm:leage chlorine atoms into the atmospheric, can cause SeVere oZone

destruction, because chl
efficiently.

orine atoms in

during volcanic eruptions, significant amount of chlorine
here which causes ozone layer depletion.
phere, known as stratospheric aerosols, the only

the stratosphere can destroy pzone very

p16/2020 - M
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30. With reference to an initiative called ‘The Economics of Ecosystems and Biodiversity (TEEB)

31.

32.

33,

34.

which of the following statements is/are correct 7 .
() Itis an initiative hosted by UNEP/IMF and World Economic Forum.

() 1tis a global initiative that focuses on drawing attention to the ecoriomic benefits of
biodiversity.

(i) It FrEﬁEl'llErEm approach that can help decision makers recognize, demonstrate and
capture the value of ecosystem and biodiversity,

Select the correct answer -

(A) (i) and (ii) only (B) (iii) only

(C) (i) and (i) only (D) (i), (i) and (iif)

Biomass gasification is considered to be one of the susta

India. In this context, which of the following statements is/are correct ?

(i  Coconut shells, groundnut shells and rice husk can be used in biomass gasification.

() The combustible Bases generated from hiomass gasification consist of hydrogen and
carbon dioxide only,

(iii) The combustible gases generated from biomass gasification can be used for direct heat
generation but not in internal combustion engines,

Which of the statements given above is/are correct 7
(A4) () only (B)
(C) (i) and (iti) only

inable solutions to the power crisis in

(ii) and (iii) only
(D) (i), (i) and (iii)

Assertion (A) ; Biosphere constitutes an excellent life-sy
and can fulfil all human needs,

Reason (R) : The size and pm-du::tivity of I:he_ h@'mphere is limited by availability of water,
nuirients and environmental conditions, ;

Identify the correct code -

(A)  Both (A) and (R) are trus and (R)

(B) Both (A) and (R) are true, but (R)

() (A) is true, but (R) is false.

(D) (A) is false, but (R} is true,

pport system which s sustainable

is the correct explanation of (A).
18 not the correct explanation of (A).

Which is the first industry using plasma technology for the disposal of ha_zal"dluus waste for
the conservation of the environment and natural resources 7
(4) Madras Rubber Factory {h{RFJ

(B) Madras Fertilizpre Limited (MFL)

(C)  Bharat Sanchar Nigam Limiteq (BSNL)
(D) Steel Authority of Ingia Limited (SAIL)

(A) Hazardous W b peamat in. oui country is governed under ;
s Waste (Manageme ing and Trans-bound
(B}  Atomic Ene:g:,r Ack lgﬁzg nt, Handling and Trans- ary Mﬂ‘.rement}

() Efwi.rnr'tmﬁ’.'nt' (Protecti ) Act, 1085 /
(D)  Biomedical Waste ﬂ'-‘IﬂIlagE'ﬂ'hEnt and Hmdﬁng} Rules, 1998

016,/2020 - M
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Direction : Read each sentence to find out whether there is any grammatical error in it, The
errot, if any will be in one part of the sentence. The letter of that part is the answer. If there
is no error, the answer is ‘(DY. Mark your answer in the response sheet.

(A) When the teacher alleged

(B) My heart was interrupted beating

(C) Out of panic that I might be the victim
(D) No error

(A) She needs to

(B) Concentrate herself on
(C) Her errand

(D) No error

Direction : In each question below, there is a sentence of which some parts have been jum-
bled up. Rearrange these parts which are labelled F, Q, R and 5 to produce the correct
sentence. Choose the proper sequence and mark your response in the sheet.

[ saw
P : after having an hour of long gazingu) .
Q : a beautiful, unmatched, invaluable, sweets’ sweet{h
R : my grandmag
S : who has happened to beg®
The proper sequence should be :
(A) PQRS (B) - QSRP . (C) QPSR (D) SQPR

Direction : Read the following four sentences and rearrange them to make a coherent and
logical paragraph. After deciding the sequence, mark your answer in the response sheet.

1.  Some money had to be sent to my parents.e

2. After that, | spent almost an hour at I'.‘t'IEIPc:fst Officed)
3.  Therefore, ] went to bank to 'r_ﬁi”thdra'-"-? some money. 3
4. However, [ had no money with me. g»

Which sentence should come third in the paragraph 7

(A) 1 (B) 2 < 3 (D) 4
Which sentence should come first in the paragraph ?

(A) 1 (B 2 <) 3 (D) 4
Which sentence should come fourth in the paragraph ? :
(A) 1 (B) 2. © 3 (D) 4
w sentence should come !‘;é.‘;i'ﬂ“d II'I the Fa'mgmph f

(A) 1 (B) 2 () 3 D) 4

9 016/2020 - M
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44,

g

f?.

43_/ The statement, “a good book may be among the best of friends,” in the

Direction : Choose an appropriate verb form and mark your answer in the response sheet.

The roof may have been leaking for the past few weeks but you do not have to worry about
it any longer. It now.

(A)  is being repaired (B) is repairing

(C)  was repaired (D) has been repaired
Over the last fifty years, mobiles dramatically,

(A} have been developed (B) were developed

(€)  have developed (D)  are being developed

Direction : Identify the following sentence pattern and mark your answer in the response
sheet.

When everything fails, God helps you,
(A) simple sentence (B) compound sentence
(C) complex sentence (D) compound-complex sentence .

Direction : Identify appropriate connective and mark your answer in the response sheet.
Ragu is rich, he is miser.
(A) where (B) aslong as (C) although (D)  until

Direction : Find out the right preposition and mark your answer in the response sheet.
Are you wearing anything your shirt.
(A) below (B) under (C) underneath (D} in

Direction : Read the following passage carefully and answer the questions that follow.
Mark your answers in the response sheet,

A man is known by the book he reads as well as by the company he keeps; for there is

a companionship of books as well as of men and one should always live in the best
whether it be of books or of men, o

A good book may be amon § the best of friends. It is the same today that it always was,
and it will never change. It is the most patient and cheerful of companions, It does not tumn
its ha::k upon in Hmes of adversity or distress. It always receives us with the same kindness;
amusing and interesting us in youth, comforting and consoling us in age,

Which of the following
passage ?
(A) happiness (B) prosperity (C)  progress

is opposite in meaning to the word 'Hd‘«’er.sil-r occurring in the
(D) misfortune

58 -
(A) ﬂmrecarmntheabeﬁerfrimdﬂmnagmdmh Passage means that

(B)  books may be good friends, but not better than good men,

(C) a good book can be included among the best of friends of manking
(D)  our best friends read the same good books, '

— i i -
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3?{ According to the Passage, A man may usually be known by the books he reads because :
(A) His reading habits shows (hat he is a scholar.

(B) The books he reads affect his thinking.

(€)  Books provide him a lot of knowledge.

(D) His selecon of books generally reveals his temperament eanct EhTaciet,

Direction : Find the correct
swer in the response sheet,

50. To fly off the handle
{..'""L} To take of
(C) To dislocate

meaning of the given idiomatic expression and mark your an-

(B} To be indifferent
{D) To lose one's temper

Direction : Complete the following sentence using appropriate form of the pronoun.

31’. We are eagerly expecting for .
(A) they (B) them (C) these (D) that

Direction : Choose the one which best EXpresses the given sentence in Passive voice and
mark your answer in the response sheet.

}i. Who is creating this mess ?

(A) Who has been created this mess 7

(B) By whom has this mess been created ?
l (C} By whom this mess is being created ?
(D) By whom is this mess being created ?

Direction : Choose the word which is the exact opposite of the given word and mark your
answer in the response sheet.

== Ll L B

53. QUIESCENT
(A} active (B) dormant {C) weak (D) unconcerned

N

Direction : Choose the one which best expresses the given sentence in Indirect/ Direct speech
and mark your answer in the response sheet.

j‘q' The man said, “No, I refused to confess guilt.” _
* {A) The man emphatically refused to -:l:rnfm guilt.
'(B) The man refused to confess his guilt:
(C) The man told that he did not confess guilt.

11 016,/2020 - M
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(C) mgsmmad myowio (D)  @moomimo
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i@l eairm cuodamma ampcm @inaaa ?
T MalIMIM dsndanad / rubaompsscea f

(A) (B}
sovadlo@dan)cdlan allmileaermiod® / eraiEime emommio.

1<) (D)

ondkom CLIOn 1GTENON0 dhEMETBIRT .
(A)  adomemmyd’ cubauemmoge alPERDIME.
(B) moailamancd anlemm eogiemomie salladg),
C) agecufiumess olitg@me ageiidens mamn aoeme.
(D)  emodd andlsnimalimmotme e@mee alnaTmond ol

‘T am afraid I can’t help you' - tofl@ow aeiwog nimidsaxewal ?
(&) ogofled’ aflsmeg muanomieaiuon eialg).

(B) agmilesd iismes maoodleannm adoeasmd amamymie).
(C)  agoiles’ aflemes moacoailsniouod dsagoe.

(D) agedles dlismag ruenoafeniuod efalagm sweaqsim,

‘o1 mleueme misbmsassladencel madqfleaymy’ - edloow goglesd
ridilEonsamn 7

(A) I recommend this memorandum for better action.
(BY 1 forward this request for further action.

(C) 1 submit this memorandum for further action.
(D) 1 submit this memorandum for immediate action.

moeyy edosjoildenim vayaxnomilan cdaow Molianeami ?

"ogEraam@osT maes momidled mlon’ agPeenaswIEs aaeimoge aidiseoam

gOalirummmie” - (Blaagod dosdlay,

“aaflal an) crf@end, emonh aiomwoo, Manth ERTYENIS An0EIRINS ewummodioon

@RCUd MONEaISle OREARAM @M Salddo0le agymallad Miot@dlgl.” wymy

cullendlddlg)).

() “'@omyenos; aqPe $o5malenos aIEENNe BMPBHS" agymT ullw o)
Salasuilall :

(B) “memenos] SRaamos &ogimoienis ARISR0Ne Mo ldmiiasagie” anmd Y]
tlnmiem Salenudlay,

(C) "memienos) @Ralae|E dISINNIER0S BRIBANINE TRAIBRINE HOg)emaTy " sy
coymndiem @olecuilall

(D) “‘mrmiemes’ @nos @ogMOUENIS GRIESNINL OTOREISI" agm uymy WBlagiem
Salanuilal)
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2. B5 coan@omnuiial dhOenmn ERaldkod momualeniim momEIintmNas MicruaXmemseh
- @DTUso, BbENISH: amSemElmL.

3. 20 (em@dMe Galigljo 8f) @aHT]o MoMdElLHmE Momnxnamedd - macnaelond,
@A ETo.lm [esud g

ol asnge epacomaenand® aidld aeymiens. aasflgsmomd
muomoomeTREif agpaioe disime (EadMe MDA nomEonuwom] salswocdleaymm
seapUlle o MRWIBHoET. SHHFRISHTTIT &MWw 65 rmaome MRHAIaSW)
epmueind ameyss 83 @oomoe @DSHAINsSWIe mdl¥magldd maly 90 woasme
EDRISSINST]O momyetamonidlenamiod akagmind aswoge 9% rmasnamiaeec
ADAIEAINSWIe BOMYBIMWIETS. BIaHIMMaldsio dbgposaaled 35 wmaomaye
epwaiad 17 wo@imoile mm"l'ﬁ‘mﬂﬁliﬂ_ 10 A@AITMIEIETT.  dhEmaajdh i
padlamwon@ladss mymale BOAHER0S B0 dh0aTi].gl)anlom o mal
@REmASISMOMIMYMmALle MaPs RMUIITYIMOWARISE [ssm006.
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@ocxSo ag)IMAT BOEME:ISING |IEBUHEMO M@0E). WMETBR0ET of)MMAET DB
ROOQEM EEEMealsm mufledlenm Melalos. mmiesoEimen HOMEday
AIOMAOUWMAW BREMAIBAOW ng) AT MBS0 palcwocilanomies RMERgIns
@OOIUB0 BHEMABISM MoRdlen e, G0} Momuoomae (alemnieisoatd alleoie
ol afjeymimacm omysiay Salewoudlenymoaomoe @aomylMalduemcd agmy
lOmmel. apcudsd momyEoad [piolndls Oligueameaigmins MO @EDTT erileimfae
odenoneomes AlroWBREe QaltWoslanomias EAAIMOMDIETE agimar
B RETARISM @0 af)SLOMmIAIOM@IMM]. g;m’]mmmﬂmr@ F-Talpis m_‘njﬂ&ﬂﬂ.ﬁ:ﬂ:ﬂlﬂwgu
@MEMEIHWio alOM DOWNBUl0 EDd:I0 ag)mn mmoaselauieioem’ DE00Mie @I (@

EBHEMARIST (A ICmidho SOOI,

adsleemomynd momuoomemgind agigale #simad maome PGB MOmySOAHWIG]
Erlewouilenim avegoudlse sinuem ?

(A) omays: (B) @ms € maly (D) @ei@ogo

Shaamuilad iarommalaaisaetd agie tumoommoent 7

(A) 3% (B) 35% C) 17% (D) 10%

B0 taamaomanleliwde mpaledth Moimodlenimm aomsimoas ounomerrel @
ensommal opal ?

(A) mmmw (B) a&ngo (C) mal¥mos (D) Motnoelond

RMOWAM @ReMaaIsm@mymdl.e] moadisaamond agrmosr ?

(A) @emasiso (B) smemscd (C) (nomao (D) mom@ons

lterue @ontoailzommlad ailari cyymeimoo® MO @ gmmmnﬂﬂ&mﬁnmmm aqE
aaldlenan’ medlwagsirmes ?

(A) BOaHIMIMaldMamEl (B) @oaHITloldsemacd
(C) sninny@onldncd (D) alleonlacd
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B anS

"By and larpe lan :
... are in ﬂwg rightd reforms in India enacted so far and those contemplated in the near future

from satisfac

direction; and i i 1 far
e Y vet due to lack of implementation the actual results are
tory”. This is the view of :

(A} BS. Sidhu

(C) Venkatasubbiah

(B} M.L. Dantwala
(D) VS. Vyas

B6. State the correct answer.
A unique objective of the Eighth Flan is :

(A)
(E)

(<)
(D)

J"'tE}:liE“]'II-gI, S'E!:E-Eufﬁﬂim:rr in fﬁnd-]:rrnducliﬂn. '
Universalization of elementary education and thereby eradicating illiteracy in the age
group of 15 to 35 years. .

Achieving a growth rate of 24% p.a.

Export promotion and solving foreign exchange problem.

87. /Arrange the Finance Commission Chairmen in the ascending order.

(A)
(B)
(C)
(D)

C. Rangarajan, A.M. Khusro, Dr. Vijay L. Kelkar, Yaga Venugopal Reddy
C. Rangarajan, Dr. Vijay L. Kelkar, AM. Khusro, Yaga Venugopal Reddy
C. Rangarajan, Dr. Vijay L. Kelkar, Yaga Venugopal Reddy, A.M. Khusro
Dr. Vijay L. Kelkar, C. Rangarajan, AM. Khusro, Yaga Venugopal Reddy

88. In which of the following Industrial policies were the major changes introduced ?

(1)
(1)

(1)

Liberalisation of licensed capacity.
Relaxation of industrial licensing,
Industrialisation of backward areas.

Select the correct answer using the codes given below.

(A)

()
(D)

Industrial policy resolution, 1956,
Industrial policy statement, 1977.
Industrial policy of 1980.
Industrial policy of 1991.

89. Which of the following could be said to have prevented the ‘trickle down’ effects in Indian
economy 7

(i)

(i)
(i)
(i)
(A)

Increased dependence of agriculture on purchased inputs and privately managed
irrigation.

More employment of labour by larger landholding farmers.

Lowered participation of women in agricultural workforce due to new technology.

The failure of the Green Revolution.
@and (@) (B (Hand@ (O (Handi) (D) (i) and (iv)

g0. Which of the following statements is not correct about Pradhan Mantri Kaushal Vikas

Yojna ?
(A) It was launched in March 2015.

(B)
(©)
(D)

It will provide training to 300 million j’l.'.l-uﬂ:'lls_
It will be implemented by the ministry of skill development and entrepreneurship.

1t will focus on the class X and class XII students.

i
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91.

92.

93.

6.

<sir g ial justi ithin the agrarian systemq
i { exploitation and social justice within .
E;} mmiﬁdfiﬁ;ﬁ;ig from the agrarian structure for improved production,
(C) Consolidation of holdings. "
(D) Provision of employment guarantee to

The second national commission on labour was set-up on 15th Gftﬂgel‘: Iﬂ;ﬂ;‘;dﬂ the

chairmanship of Ravindra Verma and the report was submitted on 29% June,

Which of the following is not a recommendation of the report 7

(A) Prior permission is necessary before lay off or retrenchment. . ,

(B) ‘Goslow’ and ‘work to rule’ steps taken by trade unions should hemﬂﬁ{dﬂffd nachrduc,

(C) Organization should set-up a grievance redressal committee for organisations employing
50 or more,

(D) To check multiplicity of trade unions.

g rural poor.

i

Consider the following statements.

The knife-edge problem in the Harrod-Domar growth model implies a constant
(i)  Rate of population growth

(i) Output

(iii) Rate of saving

(iv) Capital-output ratio

Of the statements :

(A) (iv) alone is correct (B) (i) and (ii) are correct

(C) (i), (ii) and (iii) are correct (D) (1), (iii) and (iv) are correct

Consider the following statements

(iy  Minimum support price is announced by the State Eovernments,
(i) Minimum support price is announced well before sowing,

(iif) Minimum support price is announced at the time of harvest,

(iv) Minimum support price is announced by the Central government
Of the statements : |
(A) [;:L], (ii) and (iii) are correct (B)  (id), (ili) and (iv) are correct
(C) (i) and (ii) are correct (D) (i) and (iv) are correct

Which constitutional amendment is done to pass the GST bill ?

(A) 101% (B) 120th (C) 122nd (D} 115th

:'i";hicl.};i I‘:;l fl:rﬂ]l.]n;;r;g ;ﬂl‘.afﬂnj?nt iﬁ'\a.r‘e correct E.thﬂllt the NITI Aayog ?

_ Cooperative federa]ijzgi:;ﬂﬂ:.; ?:':luevu :?-usl&lﬂﬂblﬂ Demelopeas Coal Rl
) T e, S et 0

(A)  Only (ii) and (iii) (B) Only (ii)
(C) Only (i) (D) Only (i) and (ii)
06/2020 - M 18
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g7. Imagine that the sex ratio in Kerala decreases from 2011 census to 2021 census; which could
hypothetically be the reason/s among the following ?

(ij ~ There is a mass male return migration.
(ii) There is mass exodus of females to other countries.

(i) There is a decrease in the female feticide.

(A) (i) only (B) (i) only
(C) Both (i) and (i) % (D) Both (i) and (i)

98, Regions are categorised into different stages with respect to its achievements 1:1 gr;w:;h a&ni
human development. At present which stage does Kerala State belong to a g
following 7
(A) Vicious (B) Virtuous
(C) Human development lop-sided (D) Growth lop-sided

1 i i i iuting Finance Commissions on a

99, Kerala State is considered to be very particular in constituting

regular basis. Consider the following with respect to the fundamental Terms of Reference of

these Commissions

(i) Recommending devolution of fund from State to Local Governments.

(iiy Preparing memorandum to Union Finance Commission to assist the State finances.

Which of thc statements given above is/are correct ?

(A) (i) only (B) (i) only

(C) Both (i) and {if) (D) Neither (i) nor (if)

100. Kerala's achievement in health sector is widely acknowledged. Now consider the following
statements :

(if Thereisa syndrome of low mortality and high morbidity.
(i) There is a syndrome of high mortality and low morbidity.
Which of the above statements is/are not correct ?

(4) (i) only (B) (i) only
(C) Both (i) and (i) @ Neither (i) nor (ii)
-00 0-
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